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Examples

1.  


Which conic section does this equation

− = 1
(y − 3)

2

9

(x − 1)
2

16

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pc8IBsvL4Ynv


define? Also find, if they exist, 

(i) the center 

(ii) the vertex/vertices 

(iii) The directrix 

(v) the asymptotes 

(vi) the eccentricity

Watch Video Solution

2.  


Which conic section does this define? Also

find, if they exist, 

(y + 4)2 = − 6(x − 2)

https://dl.doubtnut.com/l/_pc8IBsvL4Ynv
https://dl.doubtnut.com/l/_tqrfZHB9J5SP


(i) the center 

(ii) the vertex/vertices 

(iii) the focus/foci 

(iv) the directrix 

(v) the asymtotes 

(vi) the eccentricity

Watch Video Solution

3.  


Which conic section does this equation

define? Also find, if they exist, 

+ = 1
(x + 3)

2

25

(y − 8)
2

100

https://dl.doubtnut.com/l/_tqrfZHB9J5SP
https://dl.doubtnut.com/l/_uPOd3GZsjVh4


(i) the center 

(ii) the vertex/vertices 

(iii) the focus/foci 

(iv) the directrix 

(v) the asymtotes 

(vi) the eccentricity

Watch Video Solution

4. Name the conic by finding its standard-form

equation. 

2x
2 + 3y

3 + 12x − 24y + 60 = 0

https://dl.doubtnut.com/l/_uPOd3GZsjVh4
https://dl.doubtnut.com/l/_ikCP1wPtJGy4


Watch Video Solution

5. Name the conic by finding its standard-form

equation. 

Watch Video Solution

4x
2 + 4y

2 − 12x − 20y − 2 = 0

6. Find the foci of the conic .

Watch Video Solution

y
2 + 2x + 2y = 5

https://dl.doubtnut.com/l/_ikCP1wPtJGy4
https://dl.doubtnut.com/l/_kLN00D9FPWYz
https://dl.doubtnut.com/l/_vlDLe8386tJR
https://dl.doubtnut.com/l/_0JGyweYxs8vB


Exercises

7. Find the standard equation of a hyperbola

with center (3,-4), vertices (3,1) and (3,7) and

asymptotes 

Watch Video Solution

y + 4 = ± (x − 3)
3

4

1. Which of the following is a focus of

A. (1,-1)

+ = 1
(x − 2)

2

4

(y + 1)
2

5

https://dl.doubtnut.com/l/_0JGyweYxs8vB
https://dl.doubtnut.com/l/_QYcRUHoqIqMy


B. (2,-1)

C. (3,-1)

D. (2,-2)

Answer:

Watch Video Solution

2. Which of the following is an asymptote of

A. 

3x
2 − 4y

2 − − 12 = 0?

y = x
4
3

https://dl.doubtnut.com/l/_QYcRUHoqIqMy
https://dl.doubtnut.com/l/_bQlX8egdg0zc


B. 

C. 

D. 

Answer:

Watch Video Solution

y = − x
2

√3

y = − x
3

4

y = x
√3

2

3. The standard equation of a parabola with

focus (2,-3) and directrix x=6 is

A. (y + 3)2 = 8(x − 2)

https://dl.doubtnut.com/l/_bQlX8egdg0zc
https://dl.doubtnut.com/l/_mKmmhi5Op2UE


B. 

C. 

D. 

Answer:

Watch Video Solution

(y + 3)2 = − 8(x − 4)

(x − 2)2 = 8(y + 3)

(x + 2)2 = − 8(y − 3)

4. The standard equation of an ellipse with

vertices (-5,2) and (3,2) and minor axis of

length 6 is

https://dl.doubtnut.com/l/_mKmmhi5Op2UE
https://dl.doubtnut.com/l/_WVUTrpkAycIa


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

+ = 1
(x + 1)

2

16

(y − 2)
2

9

+ = 1
(x − 1)2

9

(y + 2)2

16

+ = 1
(x + 1)

2

9

(y − 2)
2

16

+ = 1
(x − 1)2

16

(y − 2)2

9

5. Which of the following is a vertex of

16x
2 − y

2 − 32x − 6y − 57 = 0?

https://dl.doubtnut.com/l/_WVUTrpkAycIa
https://dl.doubtnut.com/l/_DsXhB5HiVoK3


A. (1,-1)

B. (1,3)

C. (1,5)

D. (-1,-3)

Answer: D

Watch Video Solution

6. The graph of  is

A. an ellipse

x
2 = (2y + 3)2

https://dl.doubtnut.com/l/_DsXhB5HiVoK3
https://dl.doubtnut.com/l/_5AEU0yLODRfc


B. a parabola

C. a hyperbola

D. intersecting lines

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_5AEU0yLODRfc

